


























cE

Table 8 CETRIS boards painted (without services): Parameters describing environmental impact

Parameter Unit Al A2 A3 C1 c2 c3 ca D
Climate change - total kg CO; eq. 3.03E+02| 1.12E+01| 6.39E+01| 8.40E-01| 1.05E+01| 0.00E+00| 1.89E+01| 0.00E+00
Climate change - fossil kg CO; eq. 1.12E+03| 1.11E+01| 5.71E+01| 8.71E-01| 1.04E+01| 0.00E+00| 2.05E+01| 0.00E+00
Climate change - biogenic kg CO; eq. -8.20E+02 | -2.28E-02| 6.70E+00| -3.83E-02 | -1.76E-02| 0.00E+00| -1.62E+00| 0.00E+00
Climate change - land use and kg CO; eq. 7.27E-01| 9.11E-02 1.85E-02| 6.77E-03| 8.48E-02| 0.00E+00 5.90E-02| 0.00E+00
land use change
Ozone Depletlo kg CFC 11 eq. 8.34E-06| 2.07E-15| 2.29E-10| 1.53E-16| 1.92E-15| 0.00E+00 7.67E-14| 0.00E+00
Acidificati mol H* eq. 2.15E+00| 6.49E-02| 2.21E-01| 4.27E-03| 6.04E-02| 0.00E+00 1.47E-01| 0.00E+00
Eutrophlc%aﬁ{m kg P eq. 1.98E-02| 3.43E-05 1.37E-04| 2.55E-06| 3.19E-05| 0.00E+00 3.53E-05| 0.00E+00
freshwate
Eutrophication aquatic marine kg N eq. 5.09E-01| 3.13E-02 9.13E-02| 1.98E-03| 2.91E-02| 0.00E+00 3.78E-02| 0.00E+00
Eutrophication terrestrial mol N eq. 5.50E+00| 3.46E-01 9.88E-01| 2.19E-02| 3.22E-01| 0.00E+00 4.16E-01| 0.00E+00
Photochemical ozone formation | kg NMVOC eq. 1.77E+00| 6.05E-02 2.62E-01| 5.54E-03| 5.63E-02| 0.00E+00 1.15E-01| 0.00E+00
Depletion of abiotic resources - | kg Sb eq. 4.84E-04| 9.10E-07| -1.89E-04| 6.76E-08| 8.47E-07| 0.00E+00 1.85E-06| 0.00E+00
minerals and metals
Depletion of abiotic resources - | MJ, net calorific 9.01E+03| 1.50E+02| 5.78E+02| 1.12E+01| 1.40E+02| 0.00E+00| 2.69E+02| 0.00E+00
fossil fuels value
Water use m3 world eq. 3.69E+03| 1.10E-01| 3.67E+00| 8.15E-03| 1.02E-01| 0.00E+00| 2.14E+00| 0.00E+00
deprived
Particulate matter emissions Disease incidence 3.57E-05| 2.39E-07 1.56E-06| 4.81E-08| 2.28E-07| 0.00E+00 1.82E-06| 0.00E+00
lonizing radiation, human health |kBq U235 eq. 5.81E+01| 4.10E-02| 1.12E+00| 3.05E-03| 3.81E-02| 0.00E+00 3.03E-01| 0.00E+00
Ecotoxicity (freshwater) CTUe 1.65E+04 | 1.12E+02| 2.38E+02| 8.35E+00| 1.05E+02| 0.00E+00| 1.53E+02| 0.00E+00
Human toxicity, cancer effects CTUh 5.09E-07 | 2.32E-09 2.34E-06| 1.73E-10| 2.16E-09| 0.00E+00 2.27 0.00E+00
Human toxicity, noncancer CTUh 1.97E-05| 1.25E-07 2.76E-04| 1.02E-08| 1.17E-07| 0.00E+0 \ 0.00E+00
effects
Land use related impacts / soil Pt 4.84E+04 | 5.27E+01| 4.80E+01| 3.92E+ E +0 @8-554— 1| 0.00E+00
quality /( K G W@\Pw
V‘QETR\S S
?\,M\NT\BE
\ '@P“QW
NS
AW T
e o 10
ceTR®



Table 9 CETRIS boards painted (without services): Parameters describing resource use, waste and outputs flows

Parameter Unit Al A2 A3 C1 Cc2 c3 Ca D
PERE MJ |1.12E+04 | 8.68E+00| 5.49E+01 | 6.45E-01 | 8.08E+00 | 0.00E+00 | 3.53E+01 | 0.00E+00
PERM MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
PERT MJ | 1.12E+04 | 8.68E+00| 5.49E+01 | 6.45E-01 | 8.08E+00 | 0.00E+00 | 3.53E+01 | 0.00E+00
PENRE MJ |9.01E+03|1.51E+02 | 5.79E+02 | 1.12E+01 | 1.40E+02 | 0.00E+00 | 2.69E+02 | 0.00E+00
PENRM MJ | 3.30E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
PENRT MJ |9.01E+03|1.51E+02 | 5.79E+02 | 1.12E+01 | 1.40E+02 | 0.00E+00 | 2.69E+02 | 0.00E+00
Use of secondary material kg |0.00E+00 | 0.00E+00| 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Use of renewable secondary fuels MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Use of non-renewable secondary

fuels MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Water m? |8.79E+01| 1.01E-02 | 1.19E-01| 7.52E-04 | 9.41E-03 | 0.00E+00 | 6.76E-02 | 0.00E+00
Hazardous waste disposed kg 1.70E-01| 6.97E-06| 6.14E-05| 5.18E-07 | 6.49E-06 | 0.00E+00 | 4.10E-06 | 0.00E+00
Non hazardous waste disposed kg |1.34E+01| 2.39E-02 | 8.34E+01 | 1.78E-03 | 2.22E-02 | 0.00E+00 | 1.35E+03 | 0.00E+00
Radioactive waste disposed kg 7.13E-01| 2.78E-04 | 1.31E-02| 2.06E-05 | 2.59E-04 | 0.00E+00 | 3.01E-03 | 0.00E+00
Components for reuse kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Material for recycling kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Materilas for energy recovery kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Exported energy electrical MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Exported energy thermal MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

11




Table 10 CETRIS boards painted, with other services: Parameters describing environmental impact

Parameter Unit Al A2 A3 C1 c2 c3 ca D
Climate change - total kg CO; eq. 3.05E+02 | 1.23E+01| 6.65E+01| 8.40E-01| 1.05E+01|0.00E+00| 1.89E+01| 0.00E+00
Climate change - fossil kg CO, eq. 1.21E+03| 1.23E+01| 5.93E+01| 8.71E-01| 1.04E+01|0.00E+00| 2.05E+01| 0.00E+00
Climate change - biogenic kg CO; eq. -9.09E+02 | -2.07E-02 | 7.25E+00| -3.83E-02| -1.76E-02|0.00E+00| -1.62E+00| 0.00E+00
Climate change - land use and land | kg CO; eq. 7.71E-01| 1.00E-01| 2.83E-02| 6.77E-03| 8.48E-02|0.00E+00| 5.90E-02| 0.00E+00
use change
Ozone Depletion kg CFC 11 eq. 9.23E-06| 2.27E-15| 2.29E-10| 1.53E-16| 1.92E-15|0.00E+00| 7.67E-14| 0.00E+00
Acidification mol H* eq. 2.29E+00| 7.18E-02| 2.43E-01| 4.27E-03| 6.04E-02 |0.00E+00| 1.47E-01| 0.00E+00
Eutrophication aquatic freshwater | kg P eq. 2.17E-02| 3.76E-05| 1.50E-04| 2.55E-06| 3.19E-05|0.00E+00| 3.53E-05| 0.00E+00
Eutrophication aquatic marine kg N eq. 5.48E-01| 3.46E-02| 9.94E-02| 1.98E-03 2.91E-02 | 0.00E+00| 3.78E-02| 0.00E+00
Eutrophication terrestrial mol N eq. 5.92E+00| 3.83E-01| 1.08E+00| 2.19E-02| 3.22E-01|0.00E+00| 4.16E-01| 0.00E+00
Photochemical ozone formation kg NMVOC eq. 1.91E+00| 6.70E-02| 2.85E-01| 5.54E-03| 5.63E-02|0.00E+00| 1.15E-01| 0.00E+00
Depletion of abiotic resources - kg Sb eq. 5.33E-04| 9.99E-07|-2.10E-04| 6.76E-08| 8.47E-07|0.00E+00| 1.85E-06| 0.00E+00
minerals and metals
Depletion of abiotic resources - MJ, net calorific 9.50E+03| 1.65E+02| 6.07E+02| 1.12E+01| 1.40E+02|0.00E+00| 2.69E+02| 0.00E+00
fossil fuels value
Water use m3 world eq. 4.04E+03| 1.21E-01| 4.13E+00| 8.15E-03 1.02E-01|0.00E+00 | 2.14E+00| 0.00E+00
deprived
Particulate matter emissions Disease incidence 3.82E-05| 2.64E-07| 1.72E-06| 4.81E-08| 2.28E-07|0.00E+00| 1.82E-06| 0.00E+00
lonizing radiation, human health kBq U235 eq. 6.11E+01| 4.50E-02| 1.15E+00| 3.05E-03| 3.81E-02|0.00E+00| 3.03E-01| 0.00E+00
Ecotoxicity (freshwater) CTUe 1.80E+04 | 1.23E+02| 2.57E+02| 8.35E+00| 1.05E+02|0.00E+00| 1.53E+02| 0.00E+00
Human toxicity, cancer effects CTUh 5.51E-07 | 2.55E-09| 2.34E-06| 1.73E-10| 2.16E-09|0.00E+00| 2.27E-08| 0.00E+00
Human toxicity, noncancer effects |CTUh 2.06E-05| 1.38E-07| 2.76E-04| 1.02E-08| 1.17E-07|0.00E+00| 2.51E-06| 0.00E+00
Land use related impacts / soil Pt 5.34E+04 | 5.79E+01| 5.60E+01| 3.92E+00| 4.90E+01|0.00E+00| 5.85E+01| 0.00E+00

quality

12




Table 11 CETRIS boards painted with other services: Parameters describing resource use, waste and outputs flows

Parameter Unit Al A2 A3 C1 C2 Cc3 c4 D

PERE MJ | 1.23E+04 | 9.54E+00 | 5.76E+01 | 6.45E-01 | 8.08E+00 | 0.00E+00 | 3.53E+01 | 0.00E+00
PERM MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
PERT MJ | 1.23E+04 | 9.54E+00 | 5.76E+01 | 6.45E-01 | 8.08E+00 | 0.00E+00 | 3.53E+01 | 0.00E+00
PENRE MJ | 9.50E+03 | 1.66E+02 | 6.08E+02 | 1.12E+01 | 1.40E+02 | 0.00E+00 | 2.69E+02 | 0.00E+00
PENRM MJ | 3.66E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
PENRT MJ | 9.50E+03 | 1.66E+02 | 6.08E+02 | 1.12E+01 | 1.40E+02 | 0.00E+00 | 2.69E+02 | 0.00E+00
Use of secondary material kg | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

Use of renewable secondary fuels | MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

Use of non-renewable secondary

fuels MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Water m3 | 9.61E+01| 1.11E-02 | 1.28E-01| 7.52E-04 | 9.41E-03 | 0.00E+00 | 6.76E-02 | 0.00E+00
Hazardous waste disposed kg 1.70E-01 | 7.66E-06| 6.22E-05| 5.18E-07 | 6.49E-06 | 0.00E+00 | 4.10E-06 | 0.00E+00
Non hazardous waste disposed kg 1.40E+01 | 2.62E-02 | 2.34E+02 | 1.78E-03 | 2.22E-02 | 0.00E+00 | 1.35E+03 | 0.00E+00
Radioactive waste disposed kg 7.44E-01| 3.05E-04 | 1.34E-02| 2.06E-05| 2.59E-04 | 0.00E+00 | 3.01E-03 | 0.00E+00
Components for reuse kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Material for recycling kg | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Materilas for energy recovery kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Exported energy electrical MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00
Exported energy thermal MJ | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00

13



Release of dangerous substances during the use stage
No health and environmental impacts during use is observed.

Additional information

In CIDEM Hranice, a.s. - CETRIS division continuous attention is paid to the quality of our products. Already
back in 1996 we obtained the EU ISO 9002 quality certificate awarded by the international accredited
certification body, Lloyd's Register Quality Assurance. After a new standard was published, this system was
recertified in 2003 according to the new ISO 9001 standard. The production of CETRIS® cement-bonded
particleboard is further supervised by authorized and notified entities. The company exports the products to
all of Europe. The cement-bonded particleboard is certified according to European harmonized standards.

Company has established and applied a combined management system for development, production, sales
and services of its products.

Obtained certificates EN I1SO 9001, and the commitment of the whole company's staff to quality give the
customers a guarantee of a standard quality of products.

Positive attitude to the environment of CIDEM Hranice, a.s. is also declared by the certificate of PEFC obtained
according to TD CFCS 2002:2013, ensuring that all wood matter used in CIDEM Hranice originated from verified
resources.

For recommended use of cement-bonded particleboards follow http://www.cidem.cz. After the end of life, it

is possible to deposit particle boards as common non-hazardous waste.

14



Verification related information

See PCR for detailed requirements.

Published: 1.10.2020
Valid until: 31.09.2025

EN 15804+ A2:2019 Sustainability of Construction Works:
Product Category Rules: Environmental Product Declarations core rules for the

product category of construction products

375 Articles of concrete, cement and plaster
3752 Boards, blocks and similar articles of vegetable

Product group classification: : . .
group fibre, straw or wood waste agglomerated with mineral

binders
Reference year for data: 2019
Geographical scope: Europe, Global

Independent verification of the declaration and data, according to ISO 14025:2006:

O EPD Process Certification (internal) EPD Verification (external)

Third-party verifier:
Hidai Kara, Metsims Sustainability Consulting, United Kingdom, www.metsims.com

15



Mandatory statements

The LCA for this EPD is conducted according to the guidelines of ISO 14040 and ISO 14044, the
requirements given in the EN 15804+ A2:2019 Sustainability of Construction Works: Environmental Product
Declarations core rules for the product category of construction products.

The inventory for the LCA study is based on the 2019 production. The production plant is located in Hranice,
Czech Republic. For the development of this declaration, GaBi software with the latest version
characterization factors (August 2020) and the Ecoinvent database was used.

EPD of construction products may not be comparable if they do not comply with EN 15804.
This EPD covers the Cradle to Gate stage and modules C1-C4 and D.

The EPD certificate, its background data and the results will be used for business-to-business
communications and are expected to be a reliable document for green building designers, architectures,
manufacturers of construction products and the other stakeholders in the construction sector to understand
the potential environmental impacts caused by in CIDEM Holding.

"EPDs within the same product category but from different programmes may not be comparable.”

Contact information:

CIDEM Hranice, a.s.

Skalni 1088, Hranice | — Mésto, 753 01 Hranice,
Czech Republic, www.cidem.cz

Contact person: Ing. Marie Libosvéarova

EPD owner:

CGDeEM

@A studio
LCA author: Viadimir Koci, PhD, Sarecka 5, 16000 Prague 6, Czech Republic
www.lcastudio.cz

16



References

EN 15804: EN 15804:2012+A2:2019, Sustainability of construction works - Environmental Product Declarations
— Core rules for the product category of construction products

ISO 14025: DIN EN ISO 14025:2006-11: Environmental labels and declarations - Type Il environmental
declarations — Principles and procedures

ISO 14040: EN ISO 14040:2006-10 Environmental management — Life cycle assessment — Principles and

framework

ISO 14044: 2006 Environmental management — Life cycle assessment — Requirements and guidelines
Ecoinvent: Ecoinvent Centre, www.Eco-invent.org

Thinkstep: GaBi software version 9.5, 2020, Sphera solutions.

17



